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.Algebra II Pre-Course Test Review

Solve the equation.
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Find the slope of the line that passes through the pair of points.
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Find the slope and y<intercept of the lllf
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. Write an equation of a line with the given slope and y-intercept.
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. 16. Use the slope and y-intercept to graph the equation.
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Graph the equation.
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change it to s andard form K\
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. 19. A line passes through (—% é)' and (-3, 8?

a. Find the slope of the line.
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the Eiﬁatlon using square roots.
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'~=~..,____ Use the quad@rmula to solve the equation. If necessary, round to the nearest hundredth.
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